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Introduction
There was a discussion regarding “Hop by Hop” vs “End to End” in RAN#102. In this contribution, we focus and discuss on the retransmission aspect, the retransmission which is triggered by the RLC packet lost on the way between the source and the destination. We identify a potential issue on “Hop by Hop” solution, and propose RAN2 to evaluate it.
Discussion
1. [bookmark: Proposal3]Retransmission mechanism for End to End
In “End to End” solution, if RLC packets are lost on the way between the source IAB node and the destination IAB donor, the RLC entity in the IAB donor can trigger a retransmission, the destination RLC entity in the IAB donor can request a retransmission to the source RLC entity  in the IAB node directly. It means that RLC entity ensure the retransmission.
2. Retransmission mechanism for Hop by Hop
On the other hand, in “Hop by Hop” solution, if RLC packets are lost on the way between the source and the destination, there is no way to rely on the retransmission mechanism of the upper layers. Since a PDCP retransmission is not always triggered. PDCP have a retransmission mechanism, however the PDCP entity performs retransmission only when upper layers request a PDCP data recovery [1]. This means that the PDCP layer data retransmission is up to upper layer behavior, so there would be a case no PDCP retransmission at all. Addition to that, if the user uses TCP/IP then, retransmission will happen, however the User uses UDP/IP, no retrains-mission will happen.
Observation 1: Hop by hop solution has a potential issue on the retransmission when RLC packets are lost on the way between the source node and the destination node, since PDCP doesn’t support full retransmission (e.g. only support data recovery triggered by upper layer).
One solution to address this issue is increasing a number of RLC retransmission of each path. However, if the number of RLC retransmission is increased, the latency between nodes will increase.
Observation 2: Increasing a number of RLC retransmission of each path would address this issue, however it increase the latency between IAB nodes, may influence the user experience.
It’s difficult to conclude easily whether increasing a number of RLC retransmission of each path can address this issue or not, so we propose the following.
Proposal: RAN2 evaluate this retransmission problem, and discuss how to address this retransmission problem in Hop by Hop solution, if needed.
Proposal
In this contribution, we identify a potential issue on “Hop by Hop” solution,
Observation 1: Hop by hop solution has a potential issue on the retransmission when RLC packets are lost on the way between the source node and the destination node, since PDCP doesn’t support full retransmission (e.g. only support data recovery triggered by upper layer).
Observation 2: Increasing a number of RLC retransmission of each path would address this issue, however it increase the latency between IAB nodes, may influence the user service.
It’s difficult to conclude easily whether increasing a number of RLC retransmission of each path can address this issue or not, so we propose the following.
Proposal: RAN2 evaluate this retransmission problem, and discuss how to address this retransmission problem in Hop by Hop solution, if needed.
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